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[HX] Assembler Software Manual

SECTION 4:
TRANSACTION MODELLING
INTRODUCTION:


  A systems strategy could be developed from any electrical engineering project or indeed MIDI music programming which takes on board transference velocity and impedance as well as octal and harmonic precepts. 

Physical modeling can take place utilizing non-arbitrary constructs and numbers.

The [TREES] Knowledge Representation physical array when used with the [T] system metaphysics can produce artificial intelligence at a very low level of material organisation where the syntax and semantics becomes derivable from the atoms themselves.


The [HX] Tautological Syllogism And Biological Analog.

The Systemic backbone of Macro M components, that drive the Meso comprised of M and also in regulatory equilibrium with S introduce an equilibrium component, P to the Meso such that the Meso MS drives the emergence of a qualitative asset SP.

The [HX] Syllogism.

MACRO
MP

MESO

MS

MICRO

SP
This singular tautology is non-arbitrary and is not one of the many styles and forms of tautology derived by Leibnitz. This is because the ordering and precedence of the lettering is deemed irrational in terms of [T]. As a language of function, [T] does not attend to e.g. banana or orange, or, orange and banana, both being fruiting bodies of biological systems within the botanical class of angiospermae. [Vines and Rees, 'Plant and Animal Biology, vol. 1.', edn.4, pub. Pitman, 1972, ISBN 0-273-25222-4]

The underlying common process is both are fruit, one of a tree, the other of a herb (banana). The process description is the same in both cases however.

The fruit content is divergent also, as neither generic oranges, nor generic bananas, are actually absolutely identical in any logical way.

M in this simplified analogy is the predominantly Carbon backbone of the plant systems Macro, where P is contextual Oxygen, and S is systemic Meso Water. The evolved asset driven by metabolic oxygen is the predominantly water based asset of the plant metabolic system.

i.e. Major Premis  MP, Minor Premis MS, Outcome SP.

The order of precedence for lettering and other arbitrary labels is entirely unimportant in [T] descriptions.

In [T] and its transaction model, the properties of electrovalence - the movement of energy by Fajan's Rules extends across the electromagnetic spectrum from approximately 10 to the 21 hertz to 0 hertz - including in order of decreasing frequency; gamma rays, X rays, ultraviolet, visible, infrared radiation, microwaves and radio-waves.

The interaction or inter-conversion of electric and chemical phenomena produces an effect called electromotive force, or EMF. This energy can be converted reversibly from; chemical, mechanical or other forms of energy into electrical energy in some mechanism or Meso.

There are two transaction types in any given context that has a system under observation. These common and relative transactions can be modeled using the [HX] syllogism.

Z = Water, M = Specific Ions, S = Plant System, 

Q = Physical Context,

P = System Product and Emerged Asset of Scaling Exploitation.

In the aggregate context where: [Z, M, S, P] % Q + [t1 ... tn.]

[HXmicro]
              [HXmeso]
      [HXmacro]]
SYSTEM PRODUCT                           OBJECT SYSTEM     CONTEXT (Q~3S = t0)   

~2"MS ~3"MZ, t3                          ~1Z  ~2M             ~1Q   ~1Z

~2"MS ~3"MP                       ~2!3Z  ~2+?#¬S, t1     ~2Q   ~2M  

~3"ZP + (?~3S), ~3"!3MS, tn      ~3M~1S, t2 
   ~3M   ~3Z, t2

The common process being exploited by piggy-back between the object system S (plant) and the context is the fact that in the evaporation of massive ground waters Z percolating through the geochemistry, from relatively large scales within the geophysical context there is a set of necessary ionic ingredients M, making progress from greater to lesser scales of magnitude.  This is driven by osmosis within the soil and atmospheric conditions for evaporation.

i.e. ~2M >> ~3M at time 2

The niche for plant growth can be described in terms of the [HX] syllogistic forms as;   ~1Z  + (~2Z + ~2MS >> ~3MS) >> ~3Z

The evolutionary assets of the context system, e.g. its; soils, physical chemistry, geology, seasons, temperature, pressure, light levels, altitude, solar activity, ecological global dependence, sunspot activity, relative ocean currents, orbital irregularities, planetary tilt, albedo, tectonics etc.

In the context of relative scales of interactivity within and between the object system and the context system, the object system is always embedded and nested within the scales of transaction in the context.

Persistent over-supply (t1 ... tn) of the aggregates Q, necessary to emerge and replicate complexity within the system S, will produce the emergent product e.g. seed,  at t3.  (t3 =  ?¬S) to be regrown at context time Q = t4.  (where t4 = t0).

The object system must attenuate and defend itself from the greater scales of similar aggregate and their activities within the context.

It must pay a systemic toll to do this whilst converting meso quantities of context into structural assets such that the system becomes viable and macro.

The molecular version of [TREES] - 'Tripartite Relativity Expert System', can use processes such as electro-kinetics. These are the electro-dynamics of heating effects and of current distribution in; electric network electrolysis, chemical change and decomposition produced in an electrolyte by an electric current.

Also, electro-kinetics come from electromagnetic interaction - a form of interaction between particles and or fields.

Analogical reading of the emissions at the CPU by e.g. a photonic array and, or, the crystal can be interpreted to produce a tautological outcome in whatever context.

THE BIOLOGICAL ANALOG.

This model is built around the use of atmospheric pressure to deliver water to the plant biology using the transpiration stream up the xylem caused by leaf metabolism and the osmotic uptake of (biologically) necessary ion aggregates from the soil by centripetal ion activity in shoots and roots.

01. If the context aggregates Q and their changing attributes with time &Q are available as Q to the DNA script propagating to exploit them, then the evolutionary driver from Q that is Z will arrive in the plant system S at time1.

With systemic structures, macro aggregate defences and enforced adaptive tolerances against usual macrotic chaos, and bridging activities with which to exploit the macro intact, the water transport system conveys the ionic packets to the plant envelope and its metabolism.

where (?¬S) is the plant seed system and Q = environment aggregates

1a.  @ Q >> #Q = ~1S, t1

1d.  &t, t2 >> (~1Z =  (=:=Z)  +  ("3Z + !3Z))

1c.  t2 = Q[@t]Z  $ Q[@d]Z   

1d.  &t, t3 >> ((?¬S) + (+?¬S) =  (=:=S)

       02. The plant system S uses and mutates transport system Z and has  

       successfully incorporated and exploited ?Z  in this environmental  

       context. Successful self-assembling aggregate S has enfolded and 

       maintained a Z supply vacuum that exploits the process of evaporation 

       from the tolerances within the soil and vegetation types and the  

       changes in air temperature and pressure.

       S has embedded itself in a persistent opportunity between massive 

       scalar differences in the macro aggregates.

       Low S in the macro aggregates is feeding the assembly and emergence 

       of high S within the plant because it is being pulled and transported by 

       the greater and more physically abundant and reactive high Z in the 

       macro aggregates across a massive scalar divide to massively 

       low Z (atmosphere) in Q.

2a. &t, t4 = ((~1Z + ? + &Z) % (Q + &Q)) >> 

       2b.  >> ( Z >> (+?S(&Z)) + (+?S(-?Z)))

       2c.  ~1QZ = (~1!3QZ* + ~1SZ*!2) = (+?SZ) 

       2d.   [@f] $ [@g]

03.  IF context C (atmosphere activity prevalent), where C % Q, and is greater than or equal to biological and physical plant tolerances - Optimum O, then some water Z plus other ion attributes M will be moved into the plant cytoplasm L in the plant system S at time1.

3a.  S % (C % Q), t4, 

3b.  Q = !3Z = ?Z

3c.  ((C>= O*) >> ~1+?Z + (~3*!2ZM = L) ~2S* + !3ZS ) >> 

3d.  >> (+?(#Z + #~2M) >> ~2L) >> ~2S*) 

3e.  >> (&~1Z  %  !~3SQ, t4)

04.   Piggy-backed on the massive scalar processes (e.g. physics and physical energies) interchanging in the groundwater, hydrosphere and aeolosphere, ionic components essential for plant growth and over-sufficiency create the possibility of evolutionary asset or fruit. 

 e.g. Plant metabolism:    ~1S >> ~3S,   where ¬S in ~3S is the process replication description called biological DNA, M = migrating ions, L = cytoplasmic envelope at time n.

i.e. the central systemic manufacturing process of S that creates the subset (s1 .. s3) in order of; macro, meso, micro and also of scale is:

S = (s1, s2, s3).

In plants, these processes have primary components of operational capacity that is predicated upon structures utilizing: s1 = protein base, s2 = sugars, s3 = phosphate predicated.

4a.  Q =  =:=MZ, t1

4b.  S = (s1, s2, s3)

4c.  S + t2 +  +?Q~2M = (L =  (#~3M + ¬S) + Z)  =  ~3S  = (?¬S)

4d.  (?¬S) = [@f] $ [@g]

05.   In the ground G, in good conditions, the seeds start to sprout. The emergence of the external structure of the plant, E, where E % S, and includes the superstructure of the foliage F, and xylem X: - is driven by aeolian A, and phototrophic P, dictates.

Persistence of temperature and light and moisture and low air pressure and low turbulence will produce an over-sufficiency O, (=:=), of growth and therefore fruit. (?¬S).

5a.  IF ~1S  + (?¬S) % G + (+?~1Z^) + (+?P^) + (+?A^), t1  >> 

5b.  >> (?¬S) +  ~2S +  ~2Z + (+?S) + ("1S) = t2.

5c.  t2 = ((L =  (#M + #¬S) + ~2Z))  $$  

5d.  $$ = (E = (#A + #P + ~2Z^ + F + #M) + ~3Z))) = t2.

5e.  t2, IF (+?~1Z) >> ( ((L = [@f]) $$ (E = [@t])) = t3)

5f.   t3  >>  (+?S = (+?~2Z) + (+?~3Z)) = 

5g.  = (#~2MFs* + #~2MXs* + (#¬S(#s1, #s2, #s2), t2) + #"2S) + ~3Z. 

5h.  membranes roots and leaves and relative seasonal velocity

5h.  t4 = +?S (¬s1 >>  s2 + #s3) + (#"1SFX + #"2SFX) + //#

5i.   t5 =  +?S(¬s1 + ¬s2 >> s3) + (#"2SFX + #"3SFX) + //#

5j.   t6 =  +?S(¬s1 + ¬s2 + ¬s3) >> ("3SFX  >> (?¬3S) + IF£ //#)

5k.  t7 =  -?S( £=:=(s1 .. s3)) +V (//#)

THE  SCALING  RELATIVITY  MODEL [SRM]

06.  At the boundaries of various membranes and other transitional zones used in 'osmosis' by aggregates, there is a relatively normative systemic toll to be paid falling within the usual tolerances of the self-regulating and self-replicating physical system.

e.g. A to B through some common C with the intercession of at least some common D.

However, migratory aspects of adjacent chaos can introduce other modalities and scaling conflicts into the object - context relationship.

i.e. A to B through some common C with the intercession of some D that causes destructive distortion in the systemic structure, t1.

Although the systemic resistance exists, depending on the degree of physical impact on the systemic defences and tolerances there will be a gradual shutdown until cessation and de-contextualisation ensues, t3.

e.g. drought. (S = Plant System, Z = Pluvial and Fluvial Water) 

6a.  t1 = (+?~3//#~2S) + (-?!1~1Z)

6b.  t2 = (?~2//#~1S) + (-?!1~1Z)

6c.  t3 = (~1//#£S) + (-?!1~1Z)

07.  The Plant System suffers context disruption in its feeding gradient and its metabolic bridging activities and transference gradient are compromised.

Where S = (f1 .. f5), and f1;XXX  and Q = (t1 .. t6) and t1;XXX are numeric values; 001 - 999. for the purposes of empirically measuring relative wavelength and frequency for the construction of social information and artifacts.

7a.   +?QS, t1

7b.  t1 = S([@f] $ [@p])  $$  Q([@t] $ [@d]) = [@f] $$ [@t]

7c.  t2 = ~2//#S  >>  S(f1;075, f2;153, f3;125, f4;092, f5;085) + (£f2;153)

7d.  t3 = (?~2//#~1S) + (-?!2~3Z)

7e.  t2 = S(f;)(075, 000, 125, 092, 085)

7f.   t4 = ?Q[@t] >> Q(t;)(t1; 150, t2;112, t3; 000, t4; 000, t5; 017, t6; 443)

7g.  t5 = IF "3~3S  >> (~3//#S  V  ~2//#S)  = (-?~3S)

7h.  t5 = IF "1!1~1S  >> (~1//#£S)

7i.   t5 = "3~3S >> (f1 + f2 + f3)  £$$  (t1 + t2 + t3 + t6)  = (&t£=:=)

7j.   t5 =  f;(075 + 000 + 125) = f;200, $$t;1:2 = (//#~1!S) = (f;red)

7k.  t6 =  ~1S(f;red) >> (f; tripartite biology domain, massive heating) 

7l.   t6 =  //#~1S(f; geo-drought, dehydration rupture, red distortion)

7l.   t0 =  f;(075 + 153 + 125) = f;353, $$t;1:3 = (+?~3"3!3S) = (f;blue)

7m. t0 = f;(blue, UV) >> 

7m. t0 >> (f; tripartite physics domain, diffuse atmospherics, less plant red into photosynthesis, more blue/yellow and less red/green, greater xanthophyll and less chlorophyll).

7n.  t7 = IF (+?~3"3!1S) = t1 = (£f2;000) >>

7o.  t7 >>  //#S = //#f(~1f + ~2f + ~3f) = % Q

7p.  t8 = ("2~2f2;000) + //#f  >> (~1"1f2;160) = ?S

7n. The scale of f2 needed by S is nested in the larger ecosystem Q, which feeds (+?) the metabolic meso (~2S) through various layers of filtration and transportation mechanisms ("3 V "2). These eventually substantiate (=:=) the emergence of fruit or other replications, (~3S). 

e.g.  [HX] syllogism.

7q.  t9 =  //#-?£f2[@d]  + //#f(~1f + ~2f + ~3f) + (//#"2!1Q) >> £S V £#S

7r.   t9, IF //#f;XXX = t;XXX  + ~3"3!1S + £f2 >> ?S V +?S 

08. The system having been breached by migratory chaos if sufficiently sturdy, complex, well stored and developed may be able to cope with variable distresses within the new orientations of the context.

If it does or does not, however, is entirely unpredictable and arbitrary, as physical conditions accrue and emerge and de-merge with time and with the influence of more global activities. Some examples of systemic states for S are given below at time13 and intimations for what may or may not be possible. t13, (8g. -  8x.) for example massive scale velocity transference on massively complex, massively storing systems versus relative damage on similar systems in low scale velocity transference on simple and relatively unfortified systems. A few examples iterate the possibility of complexity and detail within the [HX] ASSEMBLER.

8a.  SQ = S([@f] $ [@p])  $$  Q([@t] $ [@d]) = [@f] $$ [@t]

8b.  t9  = ~2//#S  >>  S(f1;075, f2;153, f3;125, f4;092, f5;085) + (£f2;153)

8c.  t9   =  (?~2//#~1S) + (- !3~3Z) + (~3//#+?~1!"3Q)

8d.  t10 = S(f;)(075, 000, 125, 092, 085)

8e.  t11 = //#-?£f2[@d] + //#f(~1f + ~2f + ~3f) >> (£#S) + (?S) + (+?S)

8f.   t12 = #S % ~1[@t]"3!3~1S + (~3//#+?~1!"3Q) + //#f(~1f + ~2f + ~3f)
8g.   t13 = #S + //#f;(~1f) >> ~1!1"1-?£S + (?S) = S at timeN

8h.   t13 = #S + //#f;(~1f) >> ~1!1"2-?£S + (?S) = S at timeN

8i.    t13 = #S + //#f;(~1f) >> ~1!1"3-?£S + (?S) = S at timeN 

8j.    t13 = #S + //#f;(~1f) >> ~1!2"1-?£S + (?S) = S at timeN

8k.   t13 = #S + //#f;(~1f) >> ~1!2"2S + (?S) V (+?S) V (£S) = S at timeN

8l.    t13 = #S + //#f;(~1f) >> ~1!2"3S + (?S) V (+?S) V (£S) = S at timeN

8m.  t13 = #S + //#f;(~1f) >> ~1!3"1S + (?S) V (+?S) V (£S) = S at timeN

8n.   t13 = #S + //#f;(~1f) >> ~1!3"2S + (?S) V (+?S) V (£S) = S at timeN

8o.   t13 = #S + //#f;(~1f) >> ~1!3"3S + (?S) V (+?S) V (£S) = S at timeN

8p.   t13 = #S + //#f;(~1f) >> ~2!1"1S + (?S) V (+?S) V (£S) = S at timeN

8q.   t13 = #S + //#f;(~1f) >> ~2!1"2S + (?S) V (+?S) V (£S) = S at timeN

8r.    t13 = #S + //#f;(~1f) >> ~2!1"3S + (?S) V (+?S) V (£S) = S at timeN

8s.   t13 = #S + //#f;(~1f) >> ~2!2"1S + (?S) V (+?S) V (£S) = S at timeN

8t.    t13 = #S + //#f;(~1f) >> ~2!2"2S + (?S) V (+?S) V (£S) = S at timeN

8u.   t13 = #S + //#f;(~1f) >> ~2!2"3S + (?S) V (+?S) V (£S) = S at timeN

8v.   t13 = #S + //#f;(~1f) >> ~2!3"1S + (?S) V (+?S) V (£S) = S at timeN

8w.  t13 = #S + //#f;(~1f) >> ~2!3"2S + (?S) V (+?S) V (£S) = S at timeN

8x.   t13 = #S + //#f;(~1f) >> ~2!3"3S + (?S) V (+?S) V (£S) = S at timeN

8y.   t13 = #S + //#f;(~1f) >> ~3S = (?S) V (+?S) V (£S) = S at timeN

8z.   t13 = #S + ~1//#f(~1f) >> #S((-?S) V (?S) V (+?S) V (£S)) = S at timeN

8aa. t13 = #S + //#f(~2f) >> #S((-?S) V (?S) V (+?S) V (£S)) = S at timeN

8ab. t13 = #S + //#f(~3f) >> #S((-?S) V (?S) V (+?S) V (£S)) = S at timeN

8ac. t14 = #S + //#f(~2f) >> #~2S = S at timeN

09. Macro Toll Gradient [@t] is an energy toll of previously established physical and social parameters measured in and pertaining to the observed context between time1 and time2. 

When contextual disaster strikes though, tolerances within the system break down and release numerous breakdown products from aspects of the system and new environmental context that interfere and mix with and disrupt (or augment) previously working and stable physical  relationships.  e.g. ~1//#S, t1.

In normative circumstances: Context Q $ S >> S([@d] $ [@t])

In abnormative disruption  :

9a. t15 = //#Q $ //#S, #S >> = ?S(f2;153) at timeN

9b. t15 = £S + (//#(S[@d])) = ?S(f2;153) at timeN

Within the damaged system, possibilities for recombination of simples (n) represent at the damage interphase until the unique physical tolerances of the damaged zone are either superceded and disintegrated or useful recombination and structural attenuation can present enough bridging material to repair the systemic defence [@d] such that  the feeding gradient from the systemic metabolism can support [@t] the abnormative structural distress.

Two similar but differently scaled systems may fare differently in a chaotic context disruption of similar magnitude. No modeling assertion could be absolutely true in a chaotic universe though.

examples s1 and s2, where s1(mature) + s2(young) % S

s1 = !3ZS(~1X"3~1F"2)  mature plant in emergent growing season

s2 = !3ZS(~3X"1~3F"1)  young plant in emergent growing season

9a. t14 = //#-?£f2[@d] + //#f(~1f + ~2f + ~3f) >> (£#S) + (?S) + (+?S)

9b. t14 = #S % ~1[@t]"3!3~1S + (~3//#+?~1!"3Q) + //#f(~1f + ~2f + ~3f)
In this system S, values for fn at;  macro (~1fn)  =   500 - 1000

                                                          meso   (~2fn)  =   50 - 100






    micro   (~3fn)  =   1 - 10

In the context //#Q, however, disruption at (~1fn) has caused systemic failure such that the velocity of the normative rate of supply is now insufficient to supply enough systemic defences to slow down the rate of systemic disintegration.

Some complex systems can still function and retain some damage within their structure.

In the context Q, normatively, the upper and lower tolerances of competition on [@d], lie within the range of [800 - 1200] where [<1000] is prevalent. e.g. 1:10 aggregates in context lie in the range [1001 - 1200]

This 1:10 entropy ratio ~3!S would define normative existence within context Q for S. 

Also 1:10 aggregates in Q, used by S to make ~1S lie within the range

[1 - 499].

In the context //#Q, however, this ratio has changed; e.g.1 

Contextual disruption of Q has led from a normative ~3!S; (1:10), to a systemically damaging, ~1!S; (1:100 - 1:1000), tn.

9c. t15 = //#S + fn =<~2f2 +  +?[@f] + (#S + ?S) -  S(~1//#!1"1fn)

9d. t16 = //#S + fn + fn =<~2f2 +  +?[@f] + (#S + ?S) - S(~1//#!1"1fn)

9e. t17 = //#S + fn + fn + fn =<~2f2 +  +?[@f] + (#S + ?S) -  S(~1//#!1"1fn)

9f. t18 = //#S + fn + fn + fn + fn =<~2f2 +  +?[@f] + (#S + ?S) -  

9f. t18 =  - S(~1//#!1"1fn).

9g. t19 = //#S + fn + fn + fn + fn + fn =<~2f2 +  +?[@f] + (#S + ?S) -  

9g. t19    - S(~1//#!1"1fn).

9h. (t14 - tn) = //#SQ +?[@f] >> #S + //#Q = (#fn=<~2f2,tn) + (#S + ?S) V 

9h. (+?S).

9h. t20 = //#S+6(fn),@tn(t+1) >> @fn(+1fn)tn. =< ~2f2.

9h. t20  ~2f2 + (+?[@f] + (#S + ?S) - S(~1//#!1"1fn))

9i.  t21 = //#S + 7(fn) + =< (#fn=<~2f2,tn) + (#S + ?S) - S(~1//#!1"1fn)

9j.  tn = //#S + 8(fn) + =< (#fn=<~2f2,tn) + (#S + ?S) - S(~1//#!1"1fn)

10. Disruptions in the context //#Q may allow the survival of system S or not - dependent on the nature and magnitude and duration of the systemic de-contextualisation and the durability and complexity of the system.

e.g. X = xylem transport system and F = foliage. s1 = mature, s2 = young.

s1 = !3ZS(~1X"3~1F"2)  mature plant in emergent growing season, tn.

s2 = !3ZS(~3X"1~3F"1)  young plant in emergent growing season, tn.

10a. tn = (@//#Q >> £S) V (#//#Q >> #S(s1.x));(S,phenotypes, properties.x)

10b. t23 = !1ZS(~1X"3~1F"1), xs1.1;(deluge, mature root and xylem, 

10b. t23 = bad foliage).

10b. t23 = !1ZS(~1X"2~1F"3), xs1.2;(deluge, mature root and xylem, 

10b. t23 = excellent foliage).

10b. t23 = !1ZS(~1X"1~1F"1), xs1.3;(deluge, mature/decayed root 

10b. t23 = and xylem, bad foliage).

10c. t24 =  @//#Q = (-?s(1.1 + 1.2)) V (?s(1.1 + 1.2)) + £(s1.3)

10d. t25 =  @//#Q!1Z >> S = (£X)x;(deluge, root dislocation, £[@f])

10e. t25 =  IF @//#Q = t26 >> (s1.2 > s1.1) + (!1~1Z) + #(?s(1.2>1.1))

10f.  t25 =  IF @//#Q = t27 >> (s1.2 < s1.1) + (!1~1Z) + #(?s(1.1>1.2))

10e. t26 = !1Z@//#QSs >> #~3Q,x;(optimum temperature and light, £[@f])

10f.  t27 = !1Z@//#QSs >> #~1Q,x;(extreme temperature and light, £[@f])

10g. t27 =  f2  %  &Q  = (q1, q2, q3, q4, Q(1-n), ~1Z) > @(~2S + ~3S)

10h. t27 =  #(~1S) =  f2 % (q1, q4)

10i.  t27 =  @Q % &W = (W1, W2, w1, w2, w3, w4 ...wn)

10i.  t27 =  W;(tectonics, volcanism, tsunami) = &Q(~1!1{G} + ~1!1{L})

10i.  t27 =  W;(Richter, Geochemistry, Salinity + Temp) >> $$[@t]s

10j.  t28 =  W1 $$ W2 >> @//Q (q1 $$ q4) >> f2 + (&~1!1"1Q) + (#QSs)

10k. t28 =   (!1W1 $$ !1W2 >> =:= {G}@w + #¬{L} >> (q1 $$ q4)

10l.  t29 =   #¬~3{L} >> #¬~3(f2) >> #{L}Ss = (=:= + ?Ss)
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